MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

CHALLENGE

Name:

Time: Score:

1) —H X 85 =

12 —(.0001 x 1.53 =
59 —0.0001 x (—24.8) =
1) —(0.07 x 0.09 =

515) & X (0.458 =

56 0.07 x (—0.44) =
1) —0.5 x (—135) =
s —0.011 x (—14.2) =
5 —8 x (—0.106) =
w0 —0.6 x (—37) =

w1 —0.6 x (=0.72) =
2 —0.03 x (—4.91) =
553) (0.6 X 269 =

w0 x (—=94) =

) 0.1 x (—=0.028) =

Mathematics: Multiplication - Level 7 - Horizontal - Set 4
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—0.009 x 44.7 =
0.0009 x (—0.7) =
0.4 x0.32 =

0 x (—16.5) =
—0.08 x (—12.7) =
—4 x (—318) =
0.0007 x 0.332 =
0.002 x (—0.426) =
3X D=

0.0009 x (—38.6) =
—0.003 x 15.8 =
0.08 x (—378) =
0.2 x (—4.59) =
0.0008 x (—14.5) =

—0.001 x (—9.4) =
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